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Vertical Division

Name:

Solve each problem.

1)

90[799

4)

10680

7)

60(540

10)

40[600

2)

60[319

5)

90[881

8)

90[158

11)

30[905

3)

80(640

6)

30870

9)

40[360

12)

10[682

Answers

10.

11

12.
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Vertical Division Name: Answer Key
Solve each problem. Answers
1) 8179 2) 5r19 3) 8 X 8179
90[799 60319 80640 |
0 0 0 2. 5r19
79 31 64
0 0 0 o 8
799 319 640 . 68
720 300 640
79 19 0 5 9r71
4) 68 5) 9r71 6) 29 . 29
10680 90[881 30[870 |
0 0 0 n__ 9
68 88 87
60 0 60 s _ 1168
80 881 270 . 9
80 810 270
0 71 0 0 15
7) 9 8) 1r68 9) 9 30
11. rs
60[540 90[158 40[360
0 0 0 1 68r2
54 15 36
0 0 0
540 158 360
540 90 360
0 68 0
10) 15 11) 30r5 12) 68r2
40[600 30[905 10[682
0 0 0
60 90 68
40 90 60
200 05 82
200 0 80
0 5 2
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# Vertical Division Name:

Solve each problem. Answers
8r79 9 5r19
9 9r71 29 1.
8 1r68 68
2.
1) 2) 3)

90[799 60319 80(640 3

4) 5) 6)

10680 90[881 30[870 0.

7) 8) 9)

60[540 90[158 40[360

ifi 1-9 |89]|78]67[56]44[33[22[11] 0 |
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